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PART-A Answer any TEN of the following questions                         	10x3=30


1. State the two fundamental laws of Welfare Economics.
2. What is meant by pareto optimality? Show pareto optimality in consumption in an Edgeworth box.
3. Show graphically with two consumers, how the market demand for a public good is derived.
4. What are impure public goods? Give an example and state why it is an impure public good.
5. Show graphically and discuss whether subsidizing food cost or providing free food (of a certain monetary value) is better. 
6. Explain the principle of Maximum Social Advantage with a suitable diagram.
7. What does Herfindahl-Hirschman Index (HHI) measure? Calculate HHI for an industry with three firms, with a market share of 33% each.
8. Graphically illustrate the impact of profit tax on a monopolist.
9. Describe Wiseman-Peacock Hypothesis.
10. Give three reasons why indirect taxes may be more suitable for a developing country.
11. What is value-added tax?
12. What is zero-based budgeting?


PART B: Answer any TWO of the following questions          	                 	2x5=10
13. Discuss deadweight loss.
14. Why should the government takeover a natural monopoly? Explain using a diagram.
15. Write a note on budgeting in India.


PART C: Answer any TWO of the following questions                            	2x15=30

16. Discuss how externalities cause market failure. Describe a potential tax-based solution and a non-tax based solution to the externality problem.
17. What is the tax burden? Show that: 				
(i) tax is entirely borne by the consumers if supply is perfectly elastic.
(ii) tax is entirely borne by the producers if demand is perfectly elastic. 

18. A mathematical model for Tiebout takes the following form:  subject to the condition 
where n = number of people in the jurisdiction; T = head tax ; G = ‘received’ public good; y = income and  = level of utility each person must attain. (Note private good x = y -T)
a. Derive the first order conditions.						
b. Give economic interpretation of the results. 					
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